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Maximum : 60 Scores

(e

eneral Instructions to Candidates : \
® There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® (alculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® (Give equations wherever necessary.

® FElectronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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10.

11.

12.

13.

PART -1

Answer any 5 questions from 1 to 9. Each carries 1 Score. B x1=5)

Pick the looping statement in C++ (while, if, switch, case)

The subscript of the last element in the array A[10]is
The output of the C++ built in function, strlen (“school”) is
Variables in JavaScript are declared using the keyword
Expand FTP.

are computer professionals who interact with the DBMS through application
programs.

Pick the DML command (CREATE, SELECT, GRANT).
Pick the open source ERP package from the following : (Tally, Oracle, Odoo)

is a satellite based navigation system that is used to locate a geographical
position anywhere on earth. (GPS, SMS, MMS)

Answer all questions from 10 to 13. Each carries 1 Score. 4x1=4)
Pick the ternary operator in C++ (&&, ==, ? ?)

Expand DNS.

Expand URL.

Pick the CARTESIAN PRODUCT operator (U, X, —)
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10.

11.

12.

13.

PART -1
1 2)®@3 9 AOOWBS ¢a1035BSG3 aBO@EBILN0 5 af)AMAMIM DOMOo af) @),
1 ¢mpod all@o. (5x1=5)

C++ eel enaflovy cqugeand @loesoms)ae)d. (while, if, switch, case)

A[10] @recodeel @palrvom ~eIseomloag avami@ilaig @RY6M.

strlen (“school”) agyam C++ @3S g8 aNoeHOT BVFa NS em.
oa@flaidloel  co1dlmilg)®ud a)M  HlCAIW  Oalcouilajoem
(18P flagmmma.

FTP @16)S a1)@6mMd)alo af)9)®)b.

@R fleasaud GaIoUOMBSleNnes DBMS DalGRIUIH)IN SHMIYSA
O)(A10aNaHEMENBHB6N

DML @n008aw @llossomsiend (CREATE, SELECT, GRANT).

®00¢  OBHIS)OElINM@I@  dlan’  &oalend  eavowav’  ERP  alocaoeR
aloseoms)oa)s. (Tally, Oracle, Odoo)

oM@ €AY IENOW  TVOIMo GOl &0)  TLIQEORIQ
@RWlaHSI® Mmoailenauad avsaillwomadsem. (GPS, SMS, MMS)

10 2)®@3 13 2190088 af)£10 G218 §BUW3AEN)0 DOMAo af)P}@)dh. 1 ¢apod allmo.
4x1=4)

C++ eel #s8mal 830a]e0ge0 Gloesmmsiamd (&&, ==, 7 )

DNS a1j@smo)alo af)@)m)ds.

URL a1j@6m@)alo af)9))d.

CARTESIAN PRODUCT &30q]e0ge0 @lossomsiams (U, X, -)
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14.

15.

16.

17.

18.

19.

20.

21.

22.

PART - 11

Answer any two questions from 14 to 17. Each carries 2 Scores.

Define an array. State the syntax to declare an array.

What do you mean by responsive web design ?

Differentiate char and varchar data types in SQL.

Explain any two benefits of ERP system.

Answer any two questions from 18 to 20. Each carries 2 Scores.

Write any two merits of modular programming.

What is CMS ? Give one example.

Name any four aggregate functions in SQL.

PART - 111

Answer any three questions from 21 to 24. Each carries 3 Scores.

Give the output of the following C++ code.
for (1i=5;1<=10;i+=2)

{cout<< i<<”\n”;}

Compare Client side script with Server side script. Write one example for each.

SAY-746 4

Q2 x2=4)
Q2 x2=4)
(3 x3=9)



14.

15.

16.

17.

18.

19.

20.

21.

22.

PART - 1I

14 2y@@3 17 2100088 210308 ago@rlele 2 af)dNOmImn 2OMAo

ag) )@} 2 capod allmo. 2x2=4)

80) @cO MIBAlEN)d®. 0] @RGCO  (alelPalleNMN@IMSS  QAIG\PLISM
(10000 l69).

O0MVGaMMSlal  eani  AWleeaVM A MDOBIME  MIBBUB  af)a»6N

@RAMONIBNMM@ ?

SQL-eel char, varchar awogq ®oemud ¢aIAG@l0e)d.

ERP avlquasilond agea@aslene ome wnmemdd alluodlaoloe)d.

18 M®@8 20 AO0WBB ¢al13yEBSEIT aBo®@BlENe 2 afINOTIM DOm0
af) 9. 2 capod afloo. 2x2=4)

CAOW)LI08 CIdWOAoUIING nBODEHILN0 PETE NIFMEIBUD af)$I®)d.

af)@o6m CMS ? 830) 9B9a0DMo af)L)®)d>.

SQL-0£1 ago®&rlene MBI BRUNENG aNoWeUMIBHBIES Cald af)$)®)d.

PART - I1I
21 @8 24 Q100WBB €21034BSEIG3 aBo®BrlENe 3 ag)aMEMIM OO
af)9)®D. 3 capod alloo. B3x3=9)
@069 ODHS)ODIBININ CH EHoUWOG BVFa NS ) 9)®)D.
for (i=5;i<=10;1+=2)

{cout<< i<<”\n”’;}

oavdaId eerLAW Mlaig)@o] GG EOTVAW MPlalQ @AY  EalQ)d:.
6306EOaNIM)o 30GOI OBIANDVEMO af) 9.
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23.  Which are the basic data types in JavaScript ? Give one example each.

24. Define the following Terminologies in RDBMS :
(a) Relation
(b) Tuple

(c) Attribute

B. Answer any two questions from 25 to 27. Each carries 3 Scores. 2x3=06)

25. Convert the following C++ code using conditional operator :

if (score>50)
grace = 20);
else
grace=10;

26. Write C++ program to accept 5 numbers into an array and display in reverse order.

27. Explain how a DNS resolves the IP address of a domain name.

PART -1V
A. Answer any three questions from 28 to 31. Each carries 4 Scores. (B x4=12)

28. Name the two types of selection statements in C++ with one example each.
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23.

24.

25.

26.

27.

28.

20010Mflaidloel @RSITUNOM  AWIQINOSAPDHUB aB@IEM ? BCEIANIM) BICOO

DB2a0MMo MTIH)d.

RDBMS-@3 ®96¢ 6)@3:05) 0 @lamnam alB36o30d 01012 lae)d: :

(a) Relation
(b) Tuple
(c) Attribute

25 2@@d 27 Q0088 GalBIEBSEI0 aBE@BILNe 2 ag)IROVIM DOMOo
af)9)®D. 3 capod alloo. 2x3=06)

HMNElaHM@ 300|098 DaIc@IUTla] 069 OBOS)TMAlENIN CH++ cdHow’ @ogl

af) QYD :
if (score>50)
grace = 20);
else
grace=10;

830) @PCOWVICRIND 5 MoalidbUd MVld:dla] AllaIdl® BHACII@ (I13AUBlaflegym@lm’

CH 610090 af) O)®)b.

830) caIeam moaclead IP afleoave DNS agemmem aldlaoclegyamealany’

flvodl @@ 09 H.

PART -1V
28 2a®@3 31 aPoWBS 21034108 aBo®mBIEle 3 af)ANOTVIM 2OMo
af) 9. 4 caIAd all@o. Bx4=12)
CH+ eel 0ane’ 0o HAVLISME CAVGHANGIHBIOS CalOOP)M)d. BOCOIATIM)o BOCOO

9BOANDEMo af) )M
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29. Find the output of the following C++ code.

30.

31.

32.

33.

34.

SAY-746

int prod (int x, int y=2)

{return x * y;}

int main()

{

int a=5, b=10;

cout<<prod(a);

cout<<prod(a,b);

}

List any 4 text formatting tags with their purpose.

Explain any four Built — in Functions in JavaScript.

Answer any one question from 32 to 33. Carries 4 Scores. (1x4=4)

Write HTML code to divide the browser window into 2 equal sections horizontally and

load ‘a.html’ into the first section and ‘b.html’ into the second.

List and explain any two Cyber crimes against government.

PART -V

Answer any three questions from 34 to 36. Each carries 6 Scores. 2x6=12)

Write the input tag with suitable value of Type attribute to create the following

elements in an HTML form : (1 score each)

(a)
(b)
(c)
(d)
(e)
()

a text box

a password box

a radio button

a standard graphical button

a special button used to reset all the entries made in the form

a checkbox



29.

30.

31.

32.

33.

34.

@069 OBHIS)ODIBININ CH+ EHOUWIO B9G01)S af)$)®)H.
int prod (int x, int y=2)
{return x * y;}

int main()

{

int a=5, b=10;
cout<<prod(a);
cout<<prod(a,b);

}

aRO@BIE 4 OSHAY  Cand@20glo)  SOMBHIOS  CalOON)TI]  DalCWINH
QA DO LN ).

20010l igloel age®eslele Moel miladg-gDa8 afoWauMBUd AlluBlaales)d .

32 m@@e8 33 W88 ¢aI03yEBElcl agomsslene 1 agamamlm’ 2omos
af)$)@). 4 GAYOA (1x4=4)
erumavd alldewon® @lowmilmacw] 2 mely cowemgod] afllexla] ‘a.html’,

‘b.htm!’ ce10aw)92190a HTML 63001 ag)9)))d.

LRBHIBIOM GO aBO®EIENo Q6ne’ 66 aTVENIA DIQDY®Y6OBUD
alS13$6a]S)0mBHW)o QllKdElBE1E9)BHWIo HalQd.

PART -V
34 2)@E8 36 Q1POWBB €21034EBSEIG aBo®BIENe 3 agaMETIM DEMOo
af) 9. 6 capod alloo. 2x6=12)
630) HTML €anoal@d @069 630S)oril@lanam eeIsshemnud auiedlanomd eesal
@RYSIeNIYSING GRMEWOLIAOW MPIYMBS M0} SOU af)9)®)d. : (1 score each)
(a) atextbox
(b) apassword box
(c) aradio button
(d) astandard graphical button
(e) aspecial button used to reset all the entries made in the form
(f)  acheckbox

SAY-746 9 P.T.O.



35. List any 6 advantages of DBMS.

36. Consider the following table “Student”.

No. Name Mark Class
1 Kiran 450 Commerce
2 Anjali 430 Science
3 Sreelakshmi 510 Science
4 Johan 350 Humanities
5 Rajeev 270 Commerce
6 Diyon 480 Humanities

Write SQL statements for the following : (1 score each)

(a) To create the structure of the table

(b) To display all the details in the table

(c) To display the details of students in the class “Humanities”

(d) Delete the details of students whose mark is less than 300

(e) Modify the Class of student Johan from “Humanities” to “Commerce”

() To Remove the table Student from database
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35. DBMS-00 ago®mesleloe 6 0}mMeBud oISldhea|S)omm)d.

36. ®26% 6B305)aABlee)aM esenilud “Student” al@lNEMIB)G>.

No. Name Mark Class
1 Kiran 450 Commerce
2 Anjali 430 Science
3 Sreelakshmi 510 Science
4 Johan 350 Humanities
5 Rajeev 270 Commerce
6 Diyon 480 Humanities

06 HHIS)ODNAlMAIQOW]T SQL (a1qR0QIMHUB ag) 9y : (1 score each)

(a)
(b)
(©)
(d)
(e)

&y
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esendlud ceism avyeyleeoad

oseilgloet ag)ejo alluoaoowems)o (138udla flee)m@lm’

“Humanities” gsomileel allzpdmle:g)es aluosewosndd (o 188udla floemmaila’
300-@3 @269 2089988 0llBPAMCd:810S aludBIewsBU3 AWlellg ealgoas

aflzyod@mdl Johan &3 goav “Humanities” agan@l@d aflan “Commerce” @rRya6]
AIBlaH BN O] H0).

awogoemiavl@d alan Student esenilud aflaso 621903
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